
Subject: ANC coverage for BDHS-2011
Posted by Mamun on Sun, 26 Feb 2017 18:22:54 GMT
View Forum Message <> Reply to Message

I tried to estimate anc coverage for BDHS-2011 given in the table-9.3 page-126 using IR file. I
used the following stata code 

recode m14_1 (0=0 "none") (1=1) (2=2 "2") (3=3 "3") (4/20=3 "4+") (98=4 "dk"), gen(anc)
ta anc [iw=v005/1000000]

But I could not match the values. I also used the following codes using KR file

recode m14 (0=0 "none") (1=1) (2=2 "2") (3=3 "3") (4/20=3 "4+") (98=4 "dk"), gen(anc)
ta anc [iw=v005/1000000]

can you help to match these results and give an explanation

Thanks in advance
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